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1. Consider the following statements regarding National Human Rights Commission (NHRC).
1. NHRC was established in 1993 as a statutory body.
2. The chairperson and members of NHRC is appointed for a period of five years or till they attain 70 years,
whichever is earlier.
Which of the statements given above is/are correct?
(a) OnlyI
(b) Only II
(¢) BothIandII
(d) Neither I nor II
2. Consider the following statements regarding Cooperatives.
1. Cooperatives fall in the Concurrent list of the 7th Schedule.
2. Forming Cooperatives is a fundamental right under 107th Constitutional Amendment Act.
3. Promotion of Cooperatives is also a constitutional directive to the state mentioned under the DPSP.
Which of the above statements is/are correct?

a) 1& 3 only
b) 3only

c) 2&3only
d) 1&2only

3. Consider the following statements regarding the Government of India Act of 1919
1. TItintroduced direct elections for the first time in the country
2. Itrelaxed the central control over the provinces by demarcating and separating the central and provincial
subjects
3. Itextended the principle of communal representation by providing separate electorates, which
included Anglo-Indians, and Europeans
Which of the above statements is correct?

a) 1only

b) land3
c)—2and 3
d) 12and3

4. Consider the following events:
1. Sikkim becoming a full-flged state of Indian Union
2. Setting up of States Reorganisation Commission
3. Division of Madhya Pradesh to create Chhattisgarh
4. Separation of Punjab and Haryana
Which of the following is the correct chronological sequence of the above events?

8 1-2-4-3
by 2-1-3-4
0 1234
d) 2-4-1-3

5. Consider the following statements regarding reorganisation of states:
1. States Reorganisation Commission of 1953 accepted the theory of 'one language-one state'.
2. Gujarat was the first state to be created on linguistic basis.
Which of the statements given above is/are correct?
a) 1 only
b) 2 only
¢) Bothland2
d) Neither 1 nor 2
6. Which of the following are the federal features of Constitution?
1. Division of powers

2. Written Constitution

3. Supremacy of Constitution
4. Rigidity of Constitution

5. Independent judiciary

6. Bicameralism

Select the correct answer using the code given below.
a) 1,2 and 3 only
b) 3,4,5 and 6 only
c¢) 1.2.3,4 and 6 only
d 1,2,3,4,5and 6
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7. Consider the following statements:
1. Unlike prorogation, dissolution affects the bills or any other business pending before the house.
2. All pending assurances do not lapse on dissolution of Lok Sabha.
3. Abill pending in Lok Sabha lapses but a bill passed by Lok sabha which is pending in Rajya sabha does
not lapse.
Which of the above statements is/are correct?
a) 1only
b) 1and 2 only
¢) 2and 3 only
d) 1,2and3
8. Consider the following statements about Manthan platform recently seen in news
1. Itis a joint initiative of NITI Aayog and Ministry of Science and Technology.
2. It is an India’s exclusive platform for driving R&D collaboration at scale and achieving India’s
scientific missions and UN SDGs.
3. Reecently it has been awarded as best tech initiative of the year.
Choose the incorrect statements:
a) 1 and 3 only
b) 2and 3 only
c) 2only
d) 1,2and3
9. Consider the following statements regarding Maternal Mortality in India.
1. Maternal mortality ratio is measured as the number of maternal deaths per lakh live births.
2. Kerala is the only state in India to achieve the sustainable development goals target of 70 per 100,000
MMR.
3. India has witnessed a progressive reduction in MMR in lastfive years.
. Which of the above statements is/are correct?
a) land 2 only
b) 2and3 only
¢) 1 and 3 only
d) 1,2and3
10. Which of the following is/are the grounds of disqualification for membership to'the Parliament as mentioned
in the Indian Constitution?
1. Holding an office of profit under Government of India or State.
2. Proven guilty of certain election offences.
3. Convicted for any offence resulting in imprisonment for two or more years.
4.~ Voluntary acquisition of citizenship of foreign state.
Select the correct answer using the code given below:
a)~ 1 only
b) 1 and 4 only
¢) 1,2and3 only
d 1,2,3and4
11. Consider the following statements regarding the appointment of Chief Justice of India (CJI):
1. The senior most judge of the Supreme Court considered fit to hold the office should be appointed as
the CJI.
2. Seniority at the apex court is determined by age of judges.
Which of the above statements is/are correct?
a) 1only
b) 2only
c¢) Both1and?2
d) Neither 1 nor 2
12. Which of the following require a constitutional amendment in India?
1. Ceding Indian territory to a foreign country
2. Settlement of a boundary dispute between India and another country
3. Diminish the areas of a state
Select the correct answer using the code given below.
a) 1 only
b) 2 and 3 only
¢) 1and 3 only
d) 1,2and3
13. Which of the following committees/commission recommended state reorganization based on language?
1. Dhar Commission
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2. JVP Committee
3. Fazl Ali Commission
Select the correct answer using the code given below.

a) 2only

b) 1 and 3 only
¢) 3only

d) 1,2and3

14. Consider the following statements.
1. Only 1/3rd of the icebergs are visible above the surface when floating in the sea.
2. In the equator, the snowline is at higher altitudes from sea level compared to Polar Regions.
Select the correct answer from the following codes.
a) 1 Only
b) 2 Only
c¢) Both1land?2
d) Neither 1 nor 2
15. Consider the following statements on Jute Industries.
1.  About 90% of India's jute is grown in the Godavari delta.
2. Indiais now the world's leading producer of raw jute.
Which of the statement/s given above is/are not correct?
a) 1only
b) 2 only
c¢) Both1land2
d) Neither 1 nor 2
16. Which is the leading state in Jute Industries?
a) Jharkhand
b) Meghalaya
¢) West Bengal
d) Odisha
17. Consider the following statements regarding the functions of ‘sea waves
1. When the seawater loaded with rock fragments and sand attacks the coastal rocks it'is called abrasion.
2. The rock particles present in the water hit against each other.and break into progressively smaller
particles, the process is called attrition.
3. The rocks made up of limestone are subjected.to-solution action by the sea waves.
Which of the following above statements; is true?
a) 1 and 2 Only
b) -2 and:3 Only
¢) 1and3Only
d)1,2and 3
18. Consider the following statements on Inland Mountains.
1. These mountains are formed through volcanism.
2. Climate dictates the type of denudational processes involved in the formation of the Inland

Mountains.
Which of the statement/s given above is/are correct?
a) 1 only
b) 2only

¢) Both1and2
d) Neither 1 nor 2
19. Which of the following landforms are created by the sea waves?
a) Sea Cliff
b) Sea Caves
¢) Sea Arches
d) All of the above
20. Consider the following rivers:
1. Barak
2. Lohit
3. Subansiri
Which of the above flows through Arunachal Pradesh?
a) 1 only
b) 2 and 3 only
c) 1and3 only
d) 1,2and3
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21. Which of the following is/are not Biological weathering?
1. Cultivation.
2. Burrowing by organisms.
3. Decaying of plants.
Select the correct answer from the following codes
a) 1only
b) 1 and2 only
¢) 2and 3 only
d) None of the above
22. Which of the following is NOT matched correctly?
a) Pulicat lake Andhra Pradesh
b) Maharana Pratap Sagar lake: Himachal Pradesh
c) Badkhal Lake: Haryana
d) Tso Moriri lake: Nagaland
23. Which of the following is true about glaciers?
1. Glaciers are narrow at source but broadest down the hill.
2. Glaciers move because they are in a liquid state.
3. The rate of movement is greatest in the side and bottom of the glacier than in the middle.
Select the correct answer from the following codes

a) 1 Only
b) 2and 3 Only
¢) 1,2and3

d) None of the above
24. Consider the following statements regarding World Trade Organisation:
1. Itis the only global international organization that deals-with international trade rules.
2. It has 164 members and accounts for 98%-of global commerce.
Which of the statements given above is/are correct?
a) 1 only
b)" 2 only
¢) Both'land2
d) Neither 1 nor2
25. India is a signatory to major global environmental conventions and treaties including how many of the
following?
1. Stockholm Convention on Petsistent Organic Pollutants.
2. Minamata Convention‘on Mercury.
3. Convention on International Trade in Endangered Species of Wild Fauna and Flora.
4. " Convention on the Conservation of Migratory Species of Wild Animals.
Choose the correct answer using the codes given below
a) Only one
b) Only two
c) Only three
d) All the four
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